

$$t_{1n} = r^n \quad \leftarrow b_n = r^{n-1} \quad \leftarrow r, r^2, r^3, \dots \quad \leftarrow (1) \text{ (الف)}$$

(مجموعه هندسی -
درم)

$$r^2 = \frac{r^{10}}{r^8} \leftarrow \frac{a_8}{a_{10}} \quad \leftarrow (2)$$

$$b = r \quad \leftarrow r^2 \times r = r^3 \leftarrow b^3 = a \quad \leftarrow (3)$$

$$n=9 \leftarrow n-2=7 \quad \leftarrow r^{n-2} = r^7 \quad \leftarrow n=? \leftarrow t_n = r^n \quad \leftarrow (4)$$

$$t_n = t_1 q^{n-1} \quad t_{10} = ?, \quad t_1 = 96, \quad t_5 = 12 \quad (2)$$

$$\begin{aligned} \hookrightarrow t_5 &= t_1 q^4 = 12 & \hookrightarrow t_1 &= 96 \\ t_{10} &= t_1 q^9 = 96 & \rightarrow q^5 &= 2 \rightarrow q = 2 \end{aligned}$$

$$a_1 \times a_3 \times a_5 \times a_7$$

$$a_2 \times a_4 \times a_6 \times a_8$$

$$\leftarrow r \times r = a_1 \times a_4 \times a_5 \times a_8 \times a_{10} \quad (3)$$

$$\sqrt[5]{r \times r} \leftarrow (1)$$

$$\hookrightarrow a_{10} = r \times r \rightarrow a_5 = \sqrt{r \times r} \quad \frac{(\sqrt{r \times r})^2}{\hookrightarrow r \times r}$$

$$t_1 + t_1 q + t_1 q^2 = 12$$

$$\hookrightarrow t_1 (1 + q + q^2) = 12$$

$$\frac{12}{q} (1 + q + q^2) = 12$$

$$\frac{(1 + q + q^2)}{q} = \frac{12}{12}$$

$$\hookrightarrow q = 2$$

$$t_1 \times t_1 q \times t_1 q^2 = 24$$

$$t_1^3 \times q^3 = 24 \rightarrow (t_1 \times q)^3 = 24$$

$$t_1 = \frac{24}{q^3}$$

$$\hookrightarrow t_1 = \frac{24}{8}$$

$$\hookrightarrow t_1 = 3$$

$$t_1 + t_2 = 12 \rightarrow t_2 = 9$$

$$S_n = q \left(\frac{q^n - 1}{q - 1} \right)$$

$$q = 2 \quad a = 3 \quad a_n = 2, 4, 8, \dots \quad (2)$$

$$S_{10} = 2 \left(\frac{2^{10} - 1}{2 - 1} \right) = 2^{10} - 2$$

$$P_n = \sqrt{(a_1 \times a_n)^n}$$

$$P_{10} = \sqrt{(2^1 \times 2^9)^{10}} = \sqrt{(2^{10})^{10}} = 2^{50}$$

$$t_1, t_1q, t_1q^2, \dots$$

(9)

$$\left. \begin{aligned} t_1q - t_1 &= t_1(q-1) \\ t_1q^2 - t_1q &= t_1q(q-1) \end{aligned} \right\} \rightarrow \underbrace{t_1(q-1)}_{\propto q}, \underbrace{t_1q(q-1)}_{\propto q}, \dots$$

که دنباله هندسی است.
هر جمله به حسب q جمله اول به دست می آید

$$\begin{aligned} s_n &= a_1 + a_1q + a_1q^2 + \dots + a_1q^{n-1} \\ s_n q &= a_1q + a_1q^2 + a_1q^3 + \dots + a_1q^n \quad (\times q) \\ s_n - s_n q &= a_1 - a_1q^n \\ s_n(1-q) &= a_1(1-q^n) \\ s_n &= a_1 \left(\frac{1-q^n}{1-q} \right) \end{aligned}$$

(10)

(11)

$$\begin{aligned} s_n &= t_1 + (t_1+d) + (t_1+2d) + \dots + (t_1+(n-1)d) \\ s_n &= (t_1 + (n-1)d) + (t_1+d) + (t_1+2d) + \dots + (t_1+(n-1)d) \\ s_n &= (t_1 + t_n) + (t_1 + t_n) + (t_1 + t_n) + \dots + (t_1 + t_n) \\ s_n &= n(t_1 + t_n) \rightarrow s_n = \frac{n(t_1 + t_n)}{2} \rightarrow \frac{n}{2} (t_1 + t_1 + (n-1)d) \\ s_n &= \frac{n}{2} (2t_1 + (n-1)d) \end{aligned}$$

(12)